H & 0l & AHS B Ml A

20258 =0ila eI S

SA ATHA 0L KT 2
3 NGIHEdabgtxd
Ch2: ATHA I X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AUTH-4 011 LA X1 1k 7,881,013 6,182,957 1,698,056
= 1,050,000
== 332,960
[Ea 6,498,053
ANEFME-setrd 7,295,359 5,451,821 1,843,538
= 1,050,000
< 332,960
= 5,912,399
ATHA 0L X 1,847,019 1,812,136 34,883
= 1,050,000
= 797,019
AUH-2 01l LA X 48,599 113,136 A\64,537
201 Ler=23 | 23,179 82,456 NB9,277
01 At2teltl 21,379 79,456 N58,077
NATHMOILR AIRES Tl
60,0002 * 12 720
DATHAOIL R SR =& OHAH]
9,000 *7E ~493] 3,087
NExI| S itz 111,000& ~12& 1,332
NATHAENUX OlA3R 22 M+ M=A
8,000,000& 8,000
NEx8 222 & & =2357Y
3,240,000& 3,240
NoaS= gols 2d9+<
100,000 x10E +52] 5,000
2 s5=34l 1,800 3,000 1,200
NRERS 150,000& * 12 1,800
202 O4H| 18,420 25,680 AT,260
01 2L A 18,420 25,680 AT,260
DNATHAUHA S2RFE 20
60,0002 x6& 483 17,280
NATHAENLX FRFE SRE U0
60,0002 18 %193 1,140
203 HR=H| 7,000 5,000 2,000
03 A= LR F&IH| 7,000 5,000 2,000
DATHAOIAT Al X
7,000,000 7,000
A1 XH28 Off LA KT XH & 250,000 250,000 0
306 E= 250,000 250,000
01 £g= 250,000 250,000
NAIHATHHOIHXITHE EHE
250,000,000 250,000
SERASHM 5,000 5,000 0
201 Ler23| 5,000 5,000
2 s5=34l 5,000 5,000




2A:

E M

AURH 28 Off LA KT
ASEMgdsb|gxd

2l AITHA I X (CH9: &S1)
SA - ZE - B2(30) - HRAS of v e HIDE2
| nesczssdssy 5,000,002 5,000
SRAGA B XHL TR (2X) 1,450,000 0 1,450,000
= 1,050,000
2 400,000
308 AXIHSOIA 1,450,000 0 1,450,000
= 1,050,000
s 400,000
13 S [2SOHe & EAS A 1,450,000 0 1,450,000
NERA BBEE STNY KA
1,450,000,000 1,450,000
2 1,050,000
s 400,000
INEV[EPARu= 60,000 124,000 264,000
308 AXIHMSOIA 60,000 124,000 264,000
18 SIS0t HAS A 60,000 124,000 64,000
1) X124 01l LA XI 4 4 AR K12
60,000, 0002 60,000
AITH A0l LA X CHF I E el M= 10,000 0 10,000
308 XXM SOIE 10,000 10,000
13 SI[2S0He & EAS A 10,000 10,000
DATHAULAT CHRRIE] FISE)
10,000,000 10,000
UIEPNREL=, 23,420 0 23,420
201 Zet=d] 8,420 8,420
01 At2teltl 8,420 8,420
NXYLIIZ Bolal 2P+
5,000,000 5,000
NULTIE ARSE ALH)
720,000& 720
DUILTISNE SR B
2,700,000 2,700
202 O1H| 15,000 15,000
01 2LHOIH 15,000 15,000
DUENEEREEESEETT]
15,000,000 15,000
WEVIE PN 5,425,459 3,624,253 1,801,206
= 332,960
Ea 5,002,499
NETEPN 17,423 12,804 4,619
201 et ] 5,003 4,164 839
01 A2l 3,803 4,164 361
DDIHOIAX 73] g
100,000« 10 *23] 2,000
DOIKILIK YPFA AREE 7Y
40,0008/ 128 480




2A:

E M

AURH 28 Off LA KT
ASEMgdsb|gxd

2l OlcHoIH X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NOIKHOIIX LREF OfAL]
9,000& *3H +493] 1,323
02 S3=gHl 1,200 0 1,200
NATHENU R F21F0] SE2IAAE R
A== 100,000 ~12& 1,200
202 04| 12,420 8,640 3,780
01 =LHOLI 12,420 8,640 3,780
1)DIHOILX FR=E 2LHOHI
60,0002 *3& *692 12,420
SNUHALEARH(ZIIEEH) 2,993,800 1,993,800 1,000,000
201 Ler=23 | 289,000 289,000 0
01 At2teltl 239,000 239,000 0
NEMRIILEEA ADT L ARSSIHEX
] 30,000,000 #5012 150,000
NEMTOILAEA M| HEBH 25
10,000,000 #5002 50,000
NEMIILEA SXTOIE U S4=T| X
& 1,500,000& «26H 39,000
02 S3=4gl 50,000 50,000 0
NEMRIIEAA 2 2 HHEEH| =8 R
] 10,000,000 *59H 2 50,000
202 04| 4,800 4,800
01 =LHOLI 4,800 4,800
NEMIDIEA A 2E ANCHE SO
60,000 22 403! 4,800
307 elztol & 2,500,000 1,500,000 1,000,000
05 21t =S 2,500,000 1,500,000 1,000,000
NEMTOIEAA 2H & RFUH X
2,500,000,000& 2,500,000
401 Al HIZ S OHbI 200,000 200,000
01 A28l 200,000 200,000
DNEMIIILEAL AEE ES3A
100,000,000 *2IH 2 200,000
ATHHNU X ES TR H(EX) 55,500 0 55,500
= 16,650
= 38,850
402 2I”F X201 & 55,500 0 55,500
= 16,650
Ea 38,850
02 QI X2 AL E R (01X THE) 55,500 0 55,500
NATHENHXIES FEXRAY
55,500,000& 55,500
s 16,650
s 38,850
AANUX 2SS (=2HAE) 2,158,736 1,617,649 541,087




2A:

X XH -
o=

AURH 28 Off LA KT
ASEMgdsb|gxd

=l OlcHOIH X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 316,310
s 1,842,426
403 X SHHMSAH=01H 2,158,736 1,617,649 541,087
= 316,310
= 1,842,426
02 SIS0t =2 2 P E A I 2,158,736 1,617,649 541,087
DATHAOILIX] S=ERIRAIY
2,158,736,000& 2,158,736
=S 316,310
s 1,842,426
OIcHOILA KIS 24 200,000 0 200,000
401 AIEHIZ R 0HYI 200,000 200,000
01 Al&H| 200,000 200,000
NEHEEAIE FH0S XJA(ES012)
200,000,000 200,000
GlSEINE 22,881 15,432 7,449
elEfIHAIA 22,881 15,432 7,449
201 fer23| 9,881 9,432 449
01 AtR2t2|HI 9,881 9,432 449
NEEIIXE E2 =2 AREE 7
30,0002~ 122 360
NElEdE Y2 =& A
9,000 * 1 ~493] 441
NS SE5 M
100& 60,000 6,000
NASA LAESE HOIH2l
770,000 +42] 3,080
202 04| 3,000 6,000 A3,000
01 =LHOLI 3,000 6,000 23,000
NEEDt Y2 =& SUO|
60,0002 »1&+502] 3,000
401 AlEHIZ 2018 10,000 10,000
01 Al&H| 10,000 10,000
B AFRA FAIE2H
10,000,000 10,000
SEAAHE2E 573,054 717,936 A144,882
CAH= 573,054 717,936 A 144,882
SAIHE 57,703 58,936 A1,233
201 er23 | 39,343 39,736 A393
01 At2teltl 17,343 17,736 A393
NEZAAE BRFX ARES 2L
40,0002 128 480
NEAIHECH 014 & SHET KA
5,400 *100% 540




SA T ATHH 01 LA KT 10
M RBACAHESY
Sl TAIAE (Gt H2)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
NEAIHE PR 0HAH
9,0002 %32 +493] 1,323
NEANESIRE 25 L 2|
150,0002 x 102 %102 15,000
02 s3=gHl 22,000 22,000 0
NEAAEZMA st & HHl |A2el
22,000,000 22,000
202 04l 18,360 19,200 A840
01 2LHoIH 18,360 19,200 N840
NEAIAE BRFX L
60,0002 %32 863 15,480
NEANE PR=F LI Y0
60,0002 12 »483] 2,880
030 Aotz 2| H & (HEH) 2 (HE)EY 515,351 659,000 143,649
401 AlEHIZ SO 515,351 659,000 143,649
01 Al&HI 515,351 659,000 N143,649
1)2030& Alot 242 & (JHEH]) 28 (83)
=g 9 ,600,000& 430,600
1)2030& Alob 22| H & (JHEHl) 28 (83)
M2t ASE I B
57,194,000 57,194
1020308 Aot =22 | A= (THEH]) Z2H(HE)
HoigerdBE 89 27,557,000 27,557
HH 23| (A THAH0 L X2 12,600 13,200 A600
=8l 12,600 13,200 2600
Jl=23H] 12,600 13,200 2600
201 Zet=3h] 1,800 1,920 A120
01 AtR2t2|HI 1,800 1,920 A120
NEN2Y ARl
120,000& %15 1,800
202 04| 7,200 7,680 A480
01 SLHoIH 7,200 7,680 A480
NEM2E =0
60,0002 x 13«83 6,240
NSRA PRF8 =0
60,0002 x2& *82| 960
203 =4l 3,600 3,600
M FA2SHIFII 3,600 3,600
1)202!015t 300,000 * 122 3,600




